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JOKE CONTEST SUPPLEMENT

F21E@Ca—Y - aVTAMNER—ER
*We, Jokers No.42 A D [MC OFt) (E=MIHEE—28) LEDETEHAITZIV,
5o, VBD(voting before debating) + VAD(voting after debating) =& #1541 T9,

HE M &R HEE
1 Success is relative. The greater the SHEHE
success, the more relatives.
44+5=09
(10 words)
;s iv)

2 -
I bought the latest computer; _a % | HEH REA
It came completely loaded. e ¢
It was guaranteed for 90 days. n o 0+0=0
But outmoded in 30 days. (20 words) . .
3 . . -
Lack of money is the root of all evil. FEH X=
To love your wife is the root of all happiness. (19 words) 0o+0=0
Yes, you can.
4 . . .
Q: Why is everyone so tired on April 1? HMHAAEF
A: Because they’ve just finished a long 31 4+5=9
day March!
(17 words)
5

The best after-dinner speech I like to hear is wE iR

for someone to say, “OK, waiter, I'll take the 5+7=12

bill.”
(17 words)




What do you call a good-looking, intelligent, sensitive, EA/INES
docile and dedicated woman in your country? 040=0
We call the creature “Rumour”. (20 words)

Jodie Foster

7 AN
Everyone has more or less freedom-more before SHERXE
marriage and less afterward. o4 1=3

(12 words)

8 : . . . -
My invented “Sleep Learning” of listening to English | EH %E
while sleeping, proved epochal in forgetting 04+0=0
everything but not in improving English. (20 words)

2727

9 ) . b
Understanding Women: Understanding Men: =H —5B
“We need.” “That’s interesting.”

Translation: Translation:
“I need.” “Are you still 0+0=0
talking?”

(16 words )

10 O | ..

A An appendix is of no use. 7 RE e
B: Yes, it is of use for some doctor. (15 words) ﬂ 24+3=5
/Jm

1 .. .

Sign in store window: HEH B8
“Any faulty merchandise will be cheerfully replaced

. . L 4+5=9
with merchandise of equal quality.” (15 words)

12 . ) I
A honeymoon is a vacation a man takes before 5 =
starting work under a new boss.

0+3=3
(15 words )
13 ) . s
Something, somewhere, went terribly wrong. | #iE BEEF
(5 words)
O+1=1




14

Twin toilets in one stall well represent the Olympic RBINES

spirit in Sochi.

Athletes stand side by side in peace (pee-s). 14+1=2
(19 words)

1 5 . . sz
After ordering a whole pizza, she added, “Make sure you | {&)Il Jtf&
cut it in three pieces. I could never eat six. otE=8

(20 words)
16 ) . p
A horse trudges slowly into a pub and orders a drink. Wis 1E—
“E e » [13 ?77
venin” says the barman, “why the long face 04+0=0
(19 words)
17 ..
Q: What do you call a rabbit with fleas? HMHAAEF
A: Bugs Bunny
0+0=0
(10 words)
18 . ) T
He avoided funerals because he was not a mourning ik HE
person.
0+0=0
(10 words)
19 . =
A dead horse enters a bar and orders a whisky. Wis 1E—
“I'm sorry, sir,” says the barman. “We don’t
U 24+1=3
serve spirits. (20 words)
20 oV ' - : s
\w According to an unofficial survey, the only time most & HfE
people mention God is when they check the price tags.
0+0=0
(19 words)
>

21 _ = I

A: Call me a taxi. ! /D @ Nt R
B: Okey. You are a taxi. (9 words) Qﬂ@"ﬂ_ ot10=2
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22

“Why do men find it difficult to make eye contact ?” MR X
“Because breasts don’t have eyes.”
(15 words) | 4+1=5
23 ) i
Don’t use no double negatives. Nt R
(5 words) 0+0=0
24 - .
- "\a (“a \_~ Women and tax forms have a lot in TH &
&\, 5 common. 1+0=1
fg40 ten, 4 Men love to cheat on them.
o ; (15 words)
25 i o . e .
o Diamonds are a girl’s best friend. TH &
e Dogs are a man’s b.est frle.nd. 040=2
Now you know which sex is smarter.
(18 words)
26 . .
If I were punctuation, I'd be a semicolon, because | HIE FiE
* nobody understands what I mean.
. 0+0=0
b (14 words)
27 . ey
My wife and I were happy for 20 years. g FiE
t.
Then, we me 141=2

(12 words)




